Test: 2018 Primary 2 - Term 2 (SA1) Math (Red Swastika)
Points: 40 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 18 Primary 2 Math (Term 2)

Section A: 14 marks (2 marks each)

Choose the correct answer.

5 threes =

A) 8

B) 10
C) 15
D) 18

Question 2 of 18 Primary 2 Math (Term 2)
2 groups of 10 is the same as

A) 2+2

B) 2x2

C) 10+10
D) 10x10

2 pts

2 pts



Question 3 of 18 Primary 2 Math (Term 2) 2 pts

16+ 4=

A) 20
B) 12
c) 8
D) 4

Question 4 of 18 Primary 2 Math (Term 2) 2 pts

4+4+12= x5

A) 20
B) 16
C) 8
D) 4

Question 5 of 18 Primary 2 Math (Term 2) 2 pts

When a number is divided by 5, the answer is 5.
What is the number?

A) 1
B) 5
C) 10
D) 25



Question 6 of 18 Primary 2 Math (Term 2)

18 balloons can be divided equally into

i
b b

A) 4 groups of 6
B) 6 groupsof 3

C) 4 groups of 4
D) 6 groups of 5

Question 7 of 18 Primary 2 Math (Term 2)

Susan has 20 cookies.
She wants to give 3 cookies to each of her friends.
What is the most number of friends she can give to?
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Question 8 of 18 Primary 2 Math (Term 2) 2 pts

Section B: 14 marks (2 marks each)

Work out the following sums.

Complete the number pattern.

_,20,24, __ ,32,36

A) 18 and 28
B) 16 and 28
C) 16 and 26
D) 18 and 26

Question 9 of 18 Primary 2 Math (Term 2) 2 pts

Look at the picture of sweets below and choose the correct option for grouping them.
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A) 8 groups of 4
B) 10 groups of 5
C) 8 groups of 5
D) 6 groups of 8



Question 10 of 18

Multiply 7 by 4.

Ans:

Question 11 of 18

What is the missing number in the box?
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Ans:

Primary 2 Math (Term 2)

Primary 2 Math (Term 2)

2 pts

2 pts



Question 12 of 18 Primary 2 Math (Term 2) 2 pts

Choose the correct division equation based on the picture below.

A) 25+5=5
B) 20+5=4
C) 45+9=5
D) 35+5=7

Question 13 of 18 Primary 2 Math (Term 2) 2 pts
Three among the four options have the same answer. Find the odd one out.

A) 4x9

B) 4+4+4+4+4+4+4+4+4

C) 9 groups of 4
D) 4x4x4x4x4x4x4x4x4



Question 14 of 18

What is the missing number in the box?
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Ans:

Question 15 of 18

Section C: 12 marks

Do the following sums.

Mrs Sim has 13 sweets.

She gives 3 sweets to each of her children.

She has 1 sweet left.
How many children does Mrs Sim have?

Mrs Sim has children.

Question 16 of 18

Mr Ferdinand has 32 pencils.

He gave them equally to 2 boys and 2 girls.

How many pencils did each child get?

Each child got pencils.

Primary 2 Math (Term 2) 2 pts

Primary 2 Math (Term 2) 4 pts

Primary 2 Math (Term 2) 4 pts



Question 17 of 18 Primary 2 Math (Term 2) 2 pts

Madam Wati has 10 packets of buns.
There are 3 buns in each packet.

a) How many buns does she have altogether?

Madam Wati has buns altogether

Question 18 of 18 Primary 2 Math (Term 2) 2 pts

Madam Wati has 10 packets of buns.
There are 3 buns in each packet.

b) She wants to give the buns equally to 5 old ladies at a nursing home. How many buns will
each old lady get?

Each old lady will get buns.



